[ Efficiency vs vertpos |
-~ 0.5

ve
o N
. D
N

Ratio
N ¢
T [T T T[T [T [T [T [T [T [T [T [T
H . . . .
i
4
1

0.3

efficiency vs
o
w
[€)]

= = ok CEEEEE BT e

0.95 : .
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT _original_time2

Effici —e— DQM_TT_modified_time2
ICIeNd __,__ DQM_TT_modifiedINIT_time2

N~ 00 - - - . -
L R | I | T |
n E : : : : :
20,08 woterees e oo
> CF : . : : :
2 E : : N : :
o e e _—
8] r . . "
£0.06------ e AR
® E : : ;
L A 1 S
0.04F oo L . S
S W 1L
90 0 I B |
0031 RS SUSPURN I IS SO O I

9 : -
R B 1111111111 GO SR
m .

o H H q H

30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
Q.0.09F
S
% 0.08
£0.07F
3
c0.06F
Q
o
£ 0.05F
3]
0.04F
0.03F
0.02

0.0

A

Ratio
N

0.9

15 20
Sim. PV z (cm)

|
=T
o



	Contents
	Page 1


